RIS €75 Y =T nfesco-aate | T

6S X=0. x& ?“ME——{JM/

= 1 +’_:7BZ\- Math 1432
7\ b = 4’ Exam 3 Review /\
1. Integrate:
a J3x2+3x+3dx :J 3)(*3 O!X\" %d)( j\BJX‘f gx-‘_D‘“(X.H)_‘,C

A—tﬁl\—

= — 1
Xt | (E\’if J(\’+1)(\ l) =j x_,‘_ +($<_|)L X‘\O\X “ﬂM(X’H‘ (\("D '\’%&,y\lX\)HQ

X Sx+2 + 2X_ 3
%‘I& : (x+J1r)(x :1) J X Zéjo{X “j 5;%,‘1”5 xﬂdﬁs < \C(X
T2 (ki =~ Dty | + D] 4 3ctonx 4
)(:—35\71& L h_() el v 3cos<9d& _j@(J_ L 98) =06 L s +C

S, E :
g; aian%d& o Fm &} g m BEE (s 3 Cso@(f& = Garesns)- XU m/}
=325e( .
: J36+(A 1)’ 8 _é—l»()(\() O\X 5 éﬁqﬂ ( >~(. / ’i v

z5ed0dg
e oA L =\ secd®= Q[ Secotyamo|~
e 250 2000 Ja+x -( 2506 j QM‘\LHX X
h.

__—(-2

S5x+14

~ e
(x+ D" =) R X‘fz “x= K= > duber HQM\x-; 2|
(¥2)KZ) \\L 2 (X2 tC

2. Write the equqllon in polar coordinates:
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5. _Given r=4—8cosd. give the formula (only) for the area m91 de the nﬁe?/loop
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8. Find the equation of the tangent and the normal lines to the papametr 1ciunw at the owcn pomtq
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9. Find the points (x. y) at which the curve x(f)=3- -lsm(t) y(r)=4+3cos(r) has: (a) a
horizontal tangent: (b) a vertical tangent. () 8 =0 9 55'1’11" A=0, T O((éj)\ (2 /7>
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10. Give an equation relating x and v for the curve uwen paramelncallv v (3\ ! )
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Find a parameterization for:
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12. Write an expression for the nth term of the sequence:
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[3. Determine if the following sequences are monotonic. Also indicate if the sequence is bounded
Q| and if it is give the least upper bound and/or greatest lower bound.
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[4. Determine if the following Sequences converge or diverge. If they converge, give the limit:
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15. Determine the values of n which guarantee a theoretical error less than ¢ if the integral is
— "N
estimated by the trapezoidal rule and then by Simpson’s rule it € = 0.01.
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